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6.50" IMPERIAL - USC (Lengths, Diameters = in.)
6/2"7-8 4.8 STAGE HRSERIES 3 | 165 | 273 | 306 | 380 440 530 | 65.1| 650 704 | 897 | 897 [28422932[3262| 64 |66 |45 | 66 |71 | 66 | 66 | 69 | 66 | 69 | 65 | 28 | 49 | 40 | 35 | 40 |625 | 68 |66
6.50" METRIC - SI (Lengths = m) (Diameters = mm)
62" 7-84.8 STAGE HRSERIES 3 | 0.42 | 069 | 078 | 097 | 112 [ 135 | 1.65 | 1.65 | 1.79 | 228 | 228 | 7.22 | 7.45 | 829 [162.05]166.62| 114.3 [166.62] 181.1 [166.62]166.62|176.28] 166.62]176.28] 165.1 | 70.1 [123.44] 101.6 | 88.9 [101.09]158.75]171.45]166.62
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